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Write your answers on the Answer Sheet only after you are sure of your answer.  Any answer crossed out will be marked wrong.  There may be more than one correct answer from the choices.  Enter all the ones which you believe are correct.
 

Each correct answer is worth 5 pts

Each incorrect answer results in 2 pts deducted from your score
Blank answers result in no credit added or subtracted.
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1.
The third order polynomial that passes thru all the data points is 
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f)    none of the above
2.
The third order polynomial 
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  a) 0.5    b) 0.625     c) 0.75    d) 1     e) 0

3.
The third order Lagrange polynomial 
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 that passes thru all the data points is

a) 
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e)  none of the above

4.
The third order Lagrange polynomial 
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 a) 0.5   b) 0.625   c) 0.75    d) 1    e) 0

5.
The second order Newton Divided difference polynomial 
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 that passes thru the first 3 pts is


a) 
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e)  none of the above
6.
The second order Newton Divided Difference polynomial 
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a) 12     b)  15.75     c) 0       d)  18      e) 16.25    f) none of the above
 
7.
The third order Newton Divided difference polynomial 
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 that passes thru all the data pts is
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e)  none of the above
8.
The third order Newton Divided Difference polynomial 
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a) 12    b)  15.75    c) 18.125     d)  16.375    e) 16.25   f) none of the above

9.
The estimate of the error in 
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a) 
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   b) 0    c) -2.375    d)  1.875     e)  0.125   f) none of the above

10.
The interpolation methods which require solution of a system of linear equations to obtain the interpolation function are

a) 
The general polynomial form  
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b)
The Newton Divided Difference interpolating polynomial form


c) 
The Lagrange Interpolating polynomial form


d)
The use of splines


e)
none of the above

11.
The least squares regression line fit to the given 4 data points is 
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f)
none of the above

12.
The total variation in the 
[image: image38.wmf] 

i

y

data, SST is

a)  612     b)  563     c)  1004    d) 14   e)  615   f)  none of the above

13.
The error 
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ˆ

 

yy

-

is


a) -3.6   b) 4.2   c) -5.4   d) 4.8   e) 0   f) none of the above

14.
 The total sum of squares of the errors, SSE is


a) 96.2   b) 110.6   c) 82.8   d) 856.2   e) 14.7   f) none of the above
15.
The correlation coefficient r is

a) 0.9235   b) 0.8674   c) 0.8529   d) 0.9750   e) 1   f) none of the above


Given the definite integral 
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16.
The approximate value of I based on the use of trapezoidal integration with 6 intervals is

a) 4.4957   b) 5.4364   c) 8.9459   d) 7.5522   e) 6.4746   f) none of the above
17.
The approximate value of I based on the use of Simpson's 1/3 Rule with 6 intervals is

a) 4.5353   b) 5.6861   c) 8.9459   d) 7.6156   e) 6.7519   f) none of the above
18.
Given that 
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 the true error resulting from Simpson's 1/3 Rule, i.e. 
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a) 0.0231   b) -0.0058   c) -0.1052   d) 0   e) 0.4312   f) none of the above
Given the definite integral 
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19.
The approximate value of I based on the two point Gauss Quadrature formula is

a) 1.6758   b) 
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   c) 0   d) 
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   e) 0.5   f) none of the above

20.
The true error resulting from the two pint Gauss Quadrature Rule, i.e. 
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 with 6 intervals is


a) 0.2973   b) -0.2973   c) -0.0071   d) 0.0005   e) -0.3529   f) none of the above
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